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. The postfix expression:abde*+ad *f-/-b-. Then the infix expression is
()b-(d+b*e)/(a*d-f)-a
(2)a-(b+d*e)/(a*d-f)-b
3)b-(@+d*f)/(b*d-e)-a
(4)a-(f+d*a)/(e*d-b)-h.

. How many positive integers less than 30 that are relatively prime to 20?
19 @10 @)11 (4 12,

. What is the maximum number of edges in the tree with n vertices?
Mn @ n* @B n-1 (4) (n—1)>

. How many subsets are there of a set consisting of n elements?
Mn 2n-1 (@3 n*> (4 2"
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R v OE (True) & i (False) (20%)

A relation R on a set A is called an equivalence relation iff it is
reflexive, symmetric and transitive.

[(1,5)] N[(1,-2)] = 2.

A relation R on a set A is called a partial order iff it is reflexive,
antisymmetric and transitive.

The real numbers in the interval (0,1)c R are countable.
The Boolean values in the interval (0,1) are countable.

A simple graph G is bipartite if V can be partitioned into two
disjoint subsets V; and V, such that every edge connects a vertex in
V, and a vertex in V..

If G = (V, E) is an undirected graph with m edges, then 2m=2, ., deg(v).

In social network, edges represent individuals or organizations and
vertices represent relationships between them.

A Hamiltonian cycle in a graph is a cycle that starts at some vertex
V, Visits every other vertex exactly once, and ends at v. True or false:
every graph contains a Hamiltonian cycle.

Suppose every edge in an undirected graph has a unigue weight.
Then there must be a minimum-cost spanning tree that does not
include the edge with maximum weight.
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17 %k 6A={12}~B={345} n&72Pmg I # % & (product set)
AXB - (10%)

18. & * 4 @iz @M V3L a2k - (10%)

19. Let a,=2"+5*3" for n=0, 1, 2,..
(a) Find ay, a;, a5, az and a4. (5% )
(b) Show that a,=5a;-6ay, a;=5a,-6a;, and a;=5as-6a,. (5% )

20. How many solutions are there for the map-coloring problem for the following
figure?
(a) The constraint is that adjacent regions must have different colors using
three colors. (10% )

(b) The constraint is that all regions must have different colors using three
colors. (10% )
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